Narme Fluency Challenge 2 - 3 minufes ||Date

2+1= 3-1= 16+__=20 6+5= 6+6= 9 x10 =
S+1= S5-2= __+1=20 8+4= 9+9= 10x3=
1+7= 8+__=10 9+__ =20 7+8= 8+8-= 7x_=70
H+1= 2+3= 7+__=20 9+6= 15+15= 0 x10 =
1+37 = 4+4= __+20=20 ___+4=15 12+12= M x10 =
T+3= 6+3=__ 5+__ =20 T+__=13 %012 = 50 +10 =
2+_=10 T+__=9 __+3=20 30+ __ =100 % 0f 6 = 80+8=
5+5=__ 3+10 = 5+__=20 __+20=100 % 0f 4 = 10 +10 =
6+2=__ 10+8= 18+__ =20 40 + __ =100 % of 4 = S5x2-=
9+__=10 4 +10 = 9+__ =20 30 +20 = % of 22 = 7Xx2=
co+__=10 8+Y4= 9-0-= S0 +40 = Sx/= H0 + 5 =
5-3= 7+6= 20-3= 60 - 30 = 8x2= Nx5S=
d+4= 9-2= 18 -10 = 8+4+2-= 9xS5= 3x3=
__+2=06 6+6-= 16 -10 = 3+6+7= 8x5= Score = /84




